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10.

11,

12.

14.

15.

16.

17.

18.

19

20.

The Botanical Garden and the National Botanical Research Institute are located
respeclively at:

a. Pune and Howrah b. Howrah and Lucknow

¢. Darjeeling and Lucknow d. Shimla and Dehradun

Ecology deals with the group of different kinds of populations in an area is known as:
a. Communily b. Succession

<. Cohabitant d. Ecotone

Individual study of a species is known as:
a. Autecology b. Synecology
c. Ecology d. Habitat ecology

The concept of using Subscripts to show the energy content of different tropic levels is
known as:
a. Y shaped energy flow model concept b. Eltonian concept
¢. Lindeman’s Trophic -Dynamic d. None of the above
concept

When a stationary and stable age distribution exists, the specific growth rate is called:
a. Co-efficient of population growth b. Carrying capacity
¢. Agestructure d. Intrinsic rate of natural increase

Density increases rapidly in exponential or compound interest fashion and slops abruptly
as environmental resistance or another limit become effective more or less suddenly in:

a. The J shaped form of growth curve b. Sigmoid form

¢. Acceleration phase d. Survivorship curve

Suppose in an ecosystem considering the availability of space, food and availability of
minimum space requirement of an individual of species. K- 100. N=99. What is the
carrying capacity?

a. 1 b. 0.01

c. 0 d. 0.001

Phenology is:

a. A quantitative character of a b. Detines diversity of a community
communily

¢. A qualitative character of a d. Detines germination of a species
communily

Climax community results from which major activity:

a. Succession b. Cohabitation

¢. Stratification d. Compelition

The bare area is occupied by new community by the migraled species is known as:
a. Stabilization b. Compelition

¢. Nudation d. Invasion

Which of the following is not a major greenhouse gas?
a. Carbon dioxide b. Methane
c. Water vapour d. Calcium carbonate
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